
[mm]

LC16B12D TK5500 [12] 0.20 111,515 186% Pass Pass
LC16B12D TK5501 [12] 0.20 111,350 186% Pass Pass
LC16B12D TK5502 [12] 0.20 111,560 186% Pass Pass

LC16B12D TK5378 [16] 0.31 105,458 176% Pass Pass
LC16B12D TK5380 [16] 0.31 105,306 176% Pass Pass
LC16B12D TK5381 [16] 0.31 105,777 176% Pass Pass

LC20B12D TK5182 [20] 0.44 98,868 165% Pass Pass
LC20B12D TK5183 [20] 0.44 98,850 165% Pass Pass
LC20B12D TK5185 [20] 0.44 99,086 165% Pass Pass

LC22B12D TK5373 [22] 0.60 103,727 173% Pass Pass
LC22B12D TK5374 [22] 0.60 103,460 172% Pass Pass
LC22B12D TK5376 [22] 0.60 102,482 171% Pass Pass

LC25B12D TK5367 [25] 0.79 98,724 165% Pass Pass
LC25B12D TK5370 [25] 0.79 98,604 164% Pass Pass
LC25B12D TK5371 [25] 0.79 98,367 164% Pass Pass

LC28B12D TK5362 [28] 1.00 98,978 165% Pass Pass
LC28B12D TK5364 [28] 1.00 98,684 164% Pass Pass
LC28B12D TK5365 [28] 1.00 99,181 165% Pass Pass

LC32B12D TK5190 [32] 1.27 97,620 163% Pass Pass
LC32B12D TK5191 [32] 1.27 97,598 163% Pass Pass
LC32B12D TK5192 [32] 1.27 97,655 163% Pass Pass

LC36B12D TK5356 [36] 1.56 100,966 168% Pass Pass
LC36B12D TK5358 [36] 1.56 100,913 168% Pass Pass
LC36B12D TK5359 [36] 1.56 100,432 167% Pass Pass

Table is a summary of Laboratory tests results.  Tests reports are available upon request.
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